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Question 01

o
1.1 The three stage model of service consumption helps service organizations to understand
the consumer behavior, Briefly explain the Three Stage Model relating to an example.
(10 Marks)
1.2 Physical Evidence plays a significant role in services marketing. Critically review the
statement,
(10 Marks)
(Total 20 Marks)
Question 02
2.1 What are the key issues to be addressed in Serviee coneept design?
(05 Marks)
2.2 What are the key Success Factors in New Service Development?
(05 Marks)
2.3 In today’s business environment, Marketing, Operations, I'T, HR and other functions of
service organizations need to be coordinated very closely?
(10 marks)
(Total 20 Marks)
Question 03
"]
3.1 Briefly explain five (05) key roles of service marketing communication.
(05 murks) W

3.2 What could be identified as communication objectives for service organizations? ldentily
five (05) areas for objective setting.
(05 murky)
3.3 Ethics arce very important in designing a pricing strategy Tor a service organization,

Critically review the statement discussing the ethical concerns ol pricing?

(10 marks)
(‘T'otal 20 Marks)



o

Question 04

40 Bitner's service seape model explains the impact of physical surroundings on customers and
employees, Brielly explain the service scape model with respect to a service environment of
your choice,

(10 Marks)

4.2 Deseribe how the ‘Mehrabian-Russell Stimulus-Response Model’ and ‘Russels’s Model
of Affeet’ explain consumer response to a service environment.

(10 Marks)
(Total 20 Marks)

Question 05

5.1 Discuss the key barriers for firms to break the Cyele of Failure and move into the Cycle of
Success? (10 Marks)

5.2 What is ‘Emotional Labour’? Explain the ways in which it may cause stress for employees
in specific jobs?  Illustrate with suitable examples.

(10 Marks)
(Total 20 Marks)

Question 06

6.1 Discuss the possible ‘Generic Productivity Improvement Strategies’ in a service
organization.

(10 Marks)

6.2 Critically review the importance of the concept of ‘value co-creation” with respect to a service
organization.

(10 Marks)
(Total 20 Marks)

Question 07

7.1 Briefly explain the concept of service positioning and identify the six key questions that should
be answered by service organizations in developing an Effective Positioning Strategy.

(10 Marks)

7.2 Briefly explain the concept of Brand Equity with respect to a service orpanization,

(10 Mavky)

("M'otnd 20 Maurks)
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Question 04

4.1 Bitner’s service scape model explains the impact of physical surroundings on customers and
employees. Briefly explain the service scape model with respect to a service environment of
your choice.

(10 Marks)

4.2 Describe how the ‘Mehrabian-Russell Stimulus-Response Model” and ‘Russels’s Model
of Affeet’ explain consumer response (o a service environment.,

(10 Marks)
(Total 20 Marks)

Question 05
5.1 Discuss the key barriers for firms to break the Cyele of Failure and move into the Cyele of

Success? (10 Marks)

5.2 What is ‘Emotional Labour’? Explain the ways in which it may cause stress for employees
in specific jobs?  Illustrate with suitable examples.

(10 Marks)
('I'otal 20 Marks)

Question 06

0.1 Discuss the possible ‘Generic Productivity Improvement Steatepies’ inoa service
organization.

(10 Marks)

6.2 Critically review the importance of the concept of *vilue co-erention” with respect (o a service
organization.

(10 Marks)
(T'otal 20 Marks)

Question 07

7.1 Briefly explain the concept of service positioning and identily the shx key questions that should
be answered by service organizations in developing an Kffective Fosttioning Steatepy,

(10 Marks)

7.2 Briefly explain the concept of Brand Equity with respect (oo service organization,

(10 Marks)
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(i)

(i)

(ii)

(i)

(i)

(ii)

The prime motive of a supply chain should be to create value for its final customers.
Discuss with examples
(10 Marks)

Critically evaluate the Porter’s value chain to identify the contribution by the logistics
related activities

(10 Marks)

(Total Marks 20)

Explain three different strategies available for integration and collaboration of a supply
chain
(12 Marks)

“In absence of integration, collaboration would be impossible”. Do you agree? Justify
your answer,

(08 Marks)
(Total Marks 20)

“Lean manufacturing is sometimes industry specific”. Do you agree? Justify your answer

(12 Marks)
Explain three benefits of Cellular Manufacturing compared to functional layouts

(08 Marks)
(Total Marks 20)

The implementation of Agility, Lean or Leagility will always be industry specific.
Elaborate this statement with examples .
(10 Marks)

Explain how flexibility is achieved through postponement.
(10 Marks)
(Total Marks 20)



(iii)

(1)
(iif)

(1)

(i)

Differentiate Logistics and Transport
(08 Marks)

The need of multi-modality of transport emerged to overcome the drawbacks of
individual transport modes. Describe the available multi-modal transport methods.

(12 Marks)
(Total Marks 20)

Differentiate traditional problem solving and structured problem solving .

(08 Marks)
What is a defect opportunity?

(04 Marks)
Explain the defect qualifying stages

(08 Marks)

(Total Marks 20)

Bxplain the influence of order quantity on the Total Annual Cost of inventory.

(10 Mmarks)

“Just In Time (1) §s the best Inventory Management technique” Do you agree. Justify
yOour answer,

(10 Marks)
(Total Marks 20)
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Question 01.

The Vanguard Group is a growth leader in the mutual fund industry that built its $3 trillion in
managed assets by 2015 by painstakingly targeting the right customers for its business modal. It
share of new sales, which was around 25%, reflected its share of assets or market share.
However, it had a far lower share of redemptions (Customer defections in the fund context),
which gave it a market share of a net cash flows of 55% (new sales minus redemptions), and this
made it the fastest-growing mutual fund its industry.

How did Vanguard achieve such low redemption rates? The secret was in its careful acquisition,
and its product and pricing strategies, which encouraged the acquisition of the “right”
customers.

John Bogle, Vanguard’s founder, believed in the superiority of index funds and that their lower
management fees would lead to higher returns over the long run. He offered Vanguard’s client
unparalleled low management fees through a policy of not trading (its index funds hold the
market they are designed to track), not having a sales force, and only spending a fraction of what
its competitors did on advertising. Another essential part of keeping its costs low was its aim to
discourage the acquisition of customers who were not long-term index holders.

Bogle attributes the high customer loyalty Vanguard has achicved a great deal of focus on
customer redemptions. “I watched them like a hawk,” he explained, and he analyzed them more
carefully than new sales to ensure that Vanguard’s customer acquisition strategy wias on course.
Low redemption rates meant that the firm was atteacting the right kind of loyal, long-term
investors. The inherent stability of its loyal customer base has been key (o Vanguard’s cost
advantage. Bogle’s pickiness became legendary. He serutinized individual redemptions with a
fine-tooth comb to see who let the wrong kind of customers on bonrd, When an institutional
investor redeemed $25 million from an index fund bought only nine months earlier, he reparded
the acquisition of this customer as a failure of the system. He explained, “We don't want short-
term investors. They muck up the game at the expense of the long-term investor.” At the end of
his chairman’s letter to the Vanguard index Trust, Bogle repeated, ©° We urge them [short-term
investors| to look elsewhere for their investment opportunities.”

This care and attention to acquiring the right customers are famous. For example, Vanguard once
turned away an institutional investor who wanted to invest 40 million because the firm suspected
that the customer would churn the investment within the next few weeks, creating extra costs for
existing customers. The potential customer complained to Vanguard’s CEO, which in turn not
only supported the decision but also used it as an opportunity to reinforce to his teams why they
needed to be selective about the customers they accept.

Furthermore, Vanguard introduced several changes to industry practices that discouraged active
traders from buying its funds. For example, Vanguard did not allow telephone transfers for index
funds, redemption fees were added to some funds, and the standard practice of subsidizing new
accounts at the expense of existing customers was rejected because the method was considered
as disloyal to its core investor base. These product and pricing policies in effect turned away
heavy traders but made the fund extremely attractive for long-term investors.
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linally, Vanguard’s pricing was set up 10 reward loyal customers. For many of its funds,
investors pay a one-time fee upfront, which goes into the funds themselves (and not to
Vanguard) to make up to all current investors for the administrative costs of selling new units. In
cssence, this fee subsidizes long-term investors and penalizes short-term investors. Another
novel pricing approach was the creation of its Admiral shares for loyal investors, which carried a
lower expense fee than ordinary shares (0.15% instead of 0.18% per year).

A. Identify and explain the Customer Relationship Management (CRM) strategies
followed by the Vanguard Group and give your comments on those strategies.

B. Propose different types of existing customers and potential customers those whom
the company can target. J ustify your answer.

C. Identify the customer loyalty strategies which could apply by Vanguard Group

D. Give your suggestions which the company could follow; to improve the customer
relationships and improve the market share in a highly competitive business
environment.

(10 Marks x 04 = 40 Marks)
Question 02.

‘Consumers dispose of more ways 0 inform themselves, interact, and buy when, where, and how
they want. You don’t need studies 1o notice today’s customer is empowered. People still ask for
advice but they know better what they want than ever before because digital channels, social
connections and content allow them to inform themselves (and buy). Customer empowerment is
a given and increasingly will be. Time to turn it into action’.

A. Explain the value of the empowered customer to a business
(10 Marks)
B. Explain “the wheel of loyalty’’, emphasizing the relationship between the loyal

customer and the Customer Relationship Management (CRM).

(10 Marks)
(Total 20 Marks)

Question 03.

“Customer Relationship Management (CRM) is the core business strategy that integrates internul
processes and functions, and external networks, to create and deliver value to a targel customer
at a profit. It is grounded on high-quality customer data and information technology™. Foxplain
ihe tole of CRM in modern competitive service organizations, emphasizing the objectives of
('’M and challengers faced by the managers when implementing CRM. Use approprinte
exnmples where necessary.

(20 Mutkn)



Question 04,

The GE Answer Centre

GE’s Answer Centre is widely regarded as one of the best in the world. In setting up this call
center in the 1980s, GE sought to ‘personalize GE to consumers and to personalize the consumer
to GE.” Unlike most manufacturers, who avoided any contact with the final consumer, GE did an
unusual thing and gave its phone number to customers. The Answer Centre has now evolved
over two decades into an increasingly important CRM capability where the current network of
five call centers receives millions of calls each year, Management consultants Robert Wayland
and Paul Cole have outlined how GE’s Answer Centre has contributed to increased customer
relationship value in three key areas:

‘First, resolving immediate problems results in a probability-of- repurchase rate of 80 percent for
the previously dissatisfied customer, as compared to 10 percent for the dissatisfied but
uncomplaining customer and 27 percent for an average customer. In other words, by making it
casier to reach the company and by responding cffectively, GIE gets more opportunities to
convert dissatisfied customers and to strengthen relationships. Second, contact with the center
significantly increases customers’ awareness of the GI appliance line and their consideration
level. Finally, the knowledge that is generated through customer interactions provides valuable
input to the sales, marketing and new product development processes.’

A.  Based on the above information, explain how GE’ Answer Centre’s customer
relationship values? Write your judgments on the strategies mentioned above.
(10 Marks)

B. Identify the drivers which could affect the customers to switch away from the GE.
Answer Centre

(10 Marks)
(Toial 20 Marks)

Question 05

A Explain the concept of Customer Experience Management (CEM) and discuss the
importance of CEM in modern business organizations.
(10 Marks)
B. EExplain how Customer Experience Management related to Customer Relationship
Management
(10 Marks)

(Total 20 Marks)
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